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Answers to Student Book text questions





5    a   0.00006 g





b   Different pollutants may remain in the air for longer than others, or their concentrations may vary depending on a particular time of the day or time


of the year. There is no indication as to what effect each pollutant has on the environment or on people. Any other sensible points.
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Volume of 1.0M Pb(NO3)2 (cm3)





b   2.5  10–3  mol Pb(NO3) reacts with a known volume and concentration of KI;


hence, you can calculate the moles reacting and their ratio and obtain a balanced


equation.





2





OTC medicines are less powerful and safer/less toxic, with fewer side effects.


Prescribed drugs are more powerful and, therefore, must be given in much smaller, accurate dosages to avoid dangerous overdosing.
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1    92.6% (based on the amount of chlorine, which provides the smallest molar amount)





2    41%
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1    Energy is released as bonds form. This increases the movement of the particles


of reacting substances and, in turn, causes particles in the surroundings to vibrate more. So, the temperature is seen to increase as energy is transferred as heat to the surroundings.





2    An endothermic reaction needs energy from the surroundings to take place. The


energy required to break the bonds in the reactants is greater than that released


when new bonds are formed in the products, so the difference is absorbed from the surroundings. This is seen as a drop in temperature.


An exothermic reaction releases energy to the surroundings. Energy released by bond formation is greater than the energy needed to break the bonds in the reactants, so energy is released to the surroundings. This is seen as a rise in temperature.
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Depth of precipitate (mm)






















































































